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SECTION-I
GENERAL ENGLISH COMPREHENSION

Direction (Question No.1 to 5) : Read the following passage carefully and choose the best answer out of
the four choices given after each question that follows :

Self-directed learning, in its broadest meaning, describe a process in which individuals take the initiative
with or without the help of others, in diagnosing their learning needs, formulation of learning goals,
identifying resources for learning, choosing and implementing learning strategies and evalugting learning
outcomes. Thus, it is important to attain new knowledge easily and skilfully for the rest of his or her life.
What is the need for self-directed learning ? One reason is that there is convincing evidence that people,
who take the initiative in learning, learn more things and learn better than people waiting to be taught. The
second reason is that self-directed learning is more in tune with our natural processes of psychological
development; an essential aspect of maturing is developing the ability to take increasing responsibility of
our own lives to become increasingly self-directed. The third reason is that many of the new development
in education put a heavy responsibility on the learners to take a good deal of initiative in their own learning.
To meet the challenges in today’s instructive environment, self-directed learning is most essential.”

1. In self-directed learning, an individual :
(A)s  takes initiative with or without the help of others
(B) is passive and waits for directions

(©) is helpless and dependent
(D) takes initiative, without an objective

2. There is need for self-directed learning because :
(A) it is less challenging
(B)e il heips peopic o lcarm more things and leam better

(9 it is more cost-effective method
(D)  itis a modern method of learring

@ Which word best describes self-directed learning ?
(A) Active learning
(B) Passive learning
(©) Compulsory learning
(D) Repulsive learning

4. The modern environment according to the author is
(A) restrictive
(B)» instructive
(C) less developed
(D) impracticable

2 The synonym of the word ‘diagnosing’ is :
(A) searching I
(B)e  examining
(C)-  identifying
(D) complying

Direction (Question No.6 to 9) : Out of four alternatives, choose the one which can be substituted for the
given words/sentences :

6. A strong dislike :
(A) Reciprocity
(B) Entreaty
(C)»  Animosity
(D) Malice

[Series-A] [CET-BED : 2021] [Page- 1]



A place where birds are kept :

(A)s  Aviary
(B) House
()] Aquarium
(D)  Apiary

Loss of memory :
(A)e  Ambrosia
(B) Amnesia
(© Insomnia
(D) Forgetting

A study of sounds :
(A) Semantics
(B) Stylistics
(C) Linguistics
(D)e  Phonetics

Direction (Question No.10 to 12) : Select the most suitable alternative to fill in the blank/blanks in the
sentence to make it meaningful :

10.

0

In order to maintain good health one should eat a diet.
(A) rich

(B) spice

(C)e  balanced

(D) salty

The Police the mob.

(A)s  scattered
(B) disbanded
(@) drove

(D) dispersed

The shepherd was looking.after the _of sheep.
(A) Crew
(B)e gang
(C) fleet
(D) flock

Direction (Question No.13 to 15) : Fill up the blanks with suitable prepositions from the alternatives given
under each sentence :

13.  The visit of the P.M. has been advanced two days.
(A)e for
(B) by
(®)] to
(D) None of the above
14, Normally he stays until 11 p.m. these days.
(A)e up
(B) out
(C) on
(D) None of the above
15.  The history of Hindu religion dates ancient times.
(A)s  from
(B) since
(©) for
(D) None of the above _
[Series-A] [CET-BED : 2021] [Page- 2]



SECTION-IT

(@ve-1)
GENERAL HINDI
(= fo=)

Frdy (e Fo—16 ¥ 20) : A R Qe A e [ IR v R M0 R § § W IR G0

=7 A 4 67 & 59 3 7F & g7 @ g o7 7@ &)/ ghvere e & 97 @l @ #ifd
e & = 395 AU & G e 8 fearar av O% P 4l [y o A AT @ ST
ga| for ST @ GeE Bae €7 ek Ve € gT@! giaer el 78 el gl

Wﬁﬁﬁﬁ?ﬁﬁ#wmaﬁwﬁaﬁﬂvwﬁmaﬁa#aﬁﬁm

Bzt o7 7 & 5 5 e e 3 O 0w 78 & 3 @i o Sk el 7Y ? Fd G @t
# g T8l @l |

16. foa®! qom §ad 78l el & 0

(A) A
(B)e o @l
(©)  HBM B
(D) U< @
17.  9a A e g R
(A) A e
(B) TY U

(C)e TFE THId P TN G20t
18. ST ofoer W A W@, e s
(A)e G TR
(B)  FANT GeoT e
(©  F3-9 UG W [BU

D) . 5 g o
19, qo S @ @ T R -
(A) @A e

@) fEm & g8 fbar
(C)e HIFd THIA B HaTg B
(D) o Hifecd &I T Bl

20. 94 GATS g SUTFAT el Xl & 7

Ay ud
B) =M
©
D). @
21, Y= § qge I B § 7

(A)  PUC
B) feas

N (Ce
(D)
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22, WA U fEe @I W 9gE e 2
(A) ®R
(B)s G
(©)
(D) T
23. e ¥ 9 1 yafaard) O @
(A)e THR
B) IFd
(C) =R
(D) d&d
24. ‘39 & IR BT B3 E
(A)» WRT BF
(B) QNI &M
(C) Ul AT
(D) 97 o B
25. gfe ot BI A wad S Bl || ISR &
(A)e 39T BT G
(B) Wiy s @
(© Y 5 Ta
(D) T hhHE B '
26. TSP A4 H ;R R &I SR & : -~
(A), ST TIHH Il Bl z
(B)  30f THHA Pl B
()  wfe ga9E B @l
(D) SUEW § W B T
27. B ghe | fA A A 2
(A) 0y =
EB)' W —
(C) & -
(D) &I
28.  TEHE YE H U B
(A) ¥
B) -
©)
m 7
29. GO 1 el gfe-fawE §
(A) T+
(B)s TR + &
€ T + I
@O) T+ 9
30. ‘@i o fidm & -
(A)p DI
(B)
©
(D)  Sdifd
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SECTION-III
(@Ue-111)

LOGICAL AND ANALYTICAL REASONING

(arfes vd favemomers )

Directions (Question Nos.31 to 35) :
All the six members of a family A, B, C, D, E and
F are travelling together. B is the son of C but C is
not the mother of B. A and C are a married couple.
E is the brother of C. D is the daughter of A. F is
the brother of B.

On the basis of above information answer the
following questions :

31. How many male members are there in the
family ?
(A) 1
(B) 3
(©) 2
(D) 4
32.  Who is the mother of B ?
(A) D
(B) F
(©) E
(D) A
33. How many children does A bave ?
(A) One
(B) Two
(&) Three
(D) Four
34,  Who is the wife of E-?
(A) A
B) F
© B

(D) None of the above
35.  Which of the following is a pair of females

N
(A) AE
(B) BD
(C) DF
(D) AD

Directions (Question Nos.36 to 40)

In each of the following questions four possible

answer are given. Find out the most suitable

answer.

36.  Children should avoid smoking because :
(A) it is a bad habit

e (e wo—31 ¥ 35)

gRIR & T B: e A, B, C, D, E 3R F (& w1
AT W B | W B UG CH YF & olfdd Gew
C ISR B P! Al &l 8| AR ¢ Rafea &g &
e EWTE & 9a® C o | D & A P gew
F4E & 96& B &

SUYH Al S AR R FEfaiad ye ) & IR
T
31, 9ReR # e qoy wew § ?
(A) 1
B) 3
©) 2
(D) 4
32. B @ H@I B ?
(A) D
(B) F
© E
(D) A
33. AdfedTa=E?
A U@
® @
©-+ =
(D) IR
34. E 3 9o BT 2 ?
(A A
(B) F
(C) B
(D) IWH # 9§ DS A
35.  fAwfoiad # 919 afeer o g & ?
(A) AE
(B) BD
(C) DF
(D)* AD
e (/e Ho—36 ¥ 40)
fFrefefed ude wodt & foro A v aR Gl
SR A ¥ SUgE I G |

36, q@ll B gEUE § ga ARy i
(A)  ¥g g8 amed

(B) elders advise them not to do so W Ere
(©) it is an unnecessary expenditure (B} QQ:IT il @l e o &
(D) it is injurious for health (©) U8 TS IFAHS T @
(D)e TE WRY & forw wifveRs &
[Series-A] [CET-BED : 2021] [Page- 5]
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37. Ice floats on water because : 37. 99 U WR oAl € e
(A) it is transparent (A) IE gRed 2
(B) it is spongy T
(©) its weight is less than the weight of (B) b 2
water of equal volume (C)s  SH@ IR &H BT & qvad THIF
(D) it is a substance which melts I B T B UR |
quickly | D) U8 v verel & S ol fue &
38. Peoples use rubber soles in their shoes, /3_§“ RIUES L] Gl—cﬁ # YR FT el W B &,
because : i o
(A) They are fashionable P C I BL I
(B) Rubber is more porous than leather (A) d 9 &
(C)  They produce less sound (B) e, s ¥ ID Begas g €
(D)  They are durable (C)»  d BY JEW P &
D) dfFe e P
39. A deafis ‘always dumb’, because : 39.  QEXT T I BN @, i &
%g)) eri'ss%(r)grizll ‘connected to throat ) = QT" ﬁﬁm foran
1 y ;
©) deaf and dumb are synonyms (B)e W W H el | et @Tﬂ
(D) speaking is learnt by hearing from % ;
others (€) [ IR T WA §
(D) T T | G de dgal €
| 40. Platinum is more costly than silver becanse 40, Qfe=H @il § FUMS T &, Wb
< itis: o 2
- (A) a2kl B
- (A)  heavier
Y (B)  whiter (B) WHB
(C)  rarely found (Ce  H TTT S el
(D) harder (D) FHOR &
Directions (Question Nos.41 to 45)° oy Egl m‘[ Ll 45)
In each of the following questions an incomplete ferfofad wlie 9941 & d W & B W
series of numbers with one blanik is givem Identify 5 w8 2 B wEn & wmEE B
the missing number.fiom the.given aliemmatiyes, Y g
4. 3.5%.% By S, 9,
(A) ol (A) o1
(B) 11 (B)s 11
(C) 13 (O 13
. (D) 10 (D) 10
(@g.; 3,6,8,16, 19, 4. 3,6,8,16,19,
= Ry -l A) 21
(B)  38- (B) 38
C) 35 C) 35
(D) 36 (D) 36
43. 1,5,13,29, 61, 43. 1,5,13,29, 61,
(A) 90 (A) 90
(B) 103 (B) 103
(€) 109 (C) 109
(D)e 125 (D)e 125
44.  3,11,23,39, 59, 44. 3,11,23,39,59,
(A) 63 (A) 63
B) 73 (B) 73
(C)» 83 (C)s 83
O 93 (D) 93
[Series-A] [CET-BED : 2021] [Page- 6]
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4, 16, 36, 64,
(A) 300
(B) 200
(C) 100
(D) 150

Directions (Question Nos.46 to 50)

In each question two statements (I) and (II) are
followed by four conclusions. You have to take
these two statements to be true even if they seem to
be at variance from common known facts and then
decide which of the conclusions logically follows
from the given statements.

46.  Statements :
(N All boys are beautiful.
(I1) All beautiful are lovely.
Conclusions :
(A) All boys are lovely
(B) Some boys are lovely
(@) Some lovely are boys
(D) All beautiful are not lovely

47.  Statements :

(I Manish is a player.
I All the players are tall.

Conclusions -
(A) Manish 1s tall PRI
(B) All tall men are players
(©) Tall men are not players
(D) Manish is not tall

48,  Statements :

() Some people are wise.

(1) Some people are rich.

Conclusions :

(A) All the people are not wise but rich

(B) Some wise people are rich

(C) Some people are neither wise nor
rich

(D) None of these

49.  Statements :
M Some cats are good.
(Im Some cats are black.
Conclusions :
(A) All black are good
(B) Some good are black
(© Some black are good

45. 4,16, 36, 64,

(A) 300
(B) 200
(C) 100
(D) 150
e (e Ho—46 ¥ 50)

A2 5 U e # 9 wuw () e an R o g
Ol TR feedl ® Wil €| et o 9 q
g0 TR 98 WM o 9 e w8 ok
@ity & A My frest 3§ ee—ar fissd 23 7o
YT B MR T THETT B9 F FTHRT H 2 |

46. PY :

O 94 ed Gaud |
(I N YRR AR &

fApy
(A)e T dSD IR B
(B) B 7SH WR &

(C) %Y WUR 79D ¢
D) T GEd WR e

47. &Y
@ Y REa R
(), R RS 79§
=y
(A)e ¥ T E

B) W T Ied Reardr €
© o red Reargr TE #
(D)  FAY o T8

48, DY
@ B AT gEA &
)  §B AN IFER
Fepy -
(A)  WR @ T8l offere ez &

(B)e &Y YA AT KR F
© @.W‘T?ﬂ#gi%ﬁlﬁﬁeﬁﬁﬁ

(D) TH 9 B Tl

49. hd
O B [fccrdl s §|
(an oo el gt ¥l
frrepy
(A)
(B) & I Prall &

3

(D) Some good are cats : >
- (C) BB Sl I &
(D)s GO Il fafeemt
[Seﬁ%'Aj [CET-BED: 2021) [Page.. 7]
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50.  Statements : ) 50. P
(I) All the bOf)kS are notebook. ) q:pﬁ W RN a-ﬁa—cﬁ[ -gl
(I1) Some copics are novel. o
e an &% yledt "ma
Conclusions : 9
(A)  All the books are novel forpy
(B)  Some books are novel (A) o @ A §
(C)  Some novel are books (B) @B Sﬁzﬁ HAiadl &
(D)  None of these (€) B A JED §
(D)e T4 ¥ BIg eI
Directions (Question Nos.51 to 55) e (73 Ho—51 & 55)
In each of the following questions four possible ffaled s v @ IR gy S v M
answers are given. Find out the most suitable :
answor. & | afE SUgd SR BT G|
51. People wear goggles because - 51 &R T YR § 99l
| (A) T’he)" protect their eyes from (A) 3 A9 B FErE § iRdl B T
| dizzling light 3
(B) They conceal their eyes . .
I J . a e
(C) By it they look handsome B) d@ "‘T Il Bt B &
! (D) They see better by it (C)+ TP NI X & 9mma €
- (D) 32?.4. ERI 95K <9
<
L
o 52 Anil is not interested in Sunil, because: 52. N, g A Reawd 78 o, @it
| gg)) iﬁ;} ;lsaz Eggnilgrrlnanner ) Y
e (B)e it 3redT aaER e v &
(C) Anil is black _ ) .
(D)  Anil is a short man (©) ¥ Tl &
| @) 3 TR
53.  Police mariiWeéars adifiiform Beeaus- | 53, §S® I 9we T § A
A) it Lsst provided by government freeof (A) TES! I TWHR GRT Y B
Cco - -
(B) it scares the criminals B)F W S &
(©)  he can be casily tocopnited (C)s % SN | TgAM ST Hhell &
(D) its keeps him smart (D) ELAET W e o 9 %%
54. The right order of the structure of mind 4. BUSD FTER H Pl AT B el B
according to Freud is : 2
(A) Super Ego-ID-Ego : -
(B)  ID-Ego-Super Ego (A) “ﬁ"@f@'w
(©) Ego-Super Ego-ID (B)* W_W_‘ﬂﬁw
(D)  ID-Super Ego-Ego (C)  FEF-IosEH-3eq
(D) IEH-IAET—3E’Y
! 55. Languageis: 55. WMNT&:
(A) Speech (A) HEY[
(B) Posture TG
© Gesture (B)
| (D) Emotion © Hrq
‘ (D)* ¥
|
' [Series-A] [CET-BED : 2021] [Page- 8]




SECTION-1IV

@vs-1v)
GENERAL AWARENESS
(A SR)
56.  Which of the following is an ore of iron? 56. fHfaiad ¥ o U dlie o § ?
(A) Hematite (A)e %W
: (B) Alluminium
|  © Benite (B) g
] (D) Cinnabar (©) EICSIEE
(D)  RrER
57.  Pure gold is : 57. YE AR
(A) 14 Karat (A) 14 BT
(B) 24 Karat ‘ '
(C) 18 Karat (B 24 WK
(D) 22 Karat (©) 18 &XTd
(D) 22 &N
58.  Which of the following is a bacterial 58. fy=foaRad ¥ & Gﬂ‘clTl]l ST T E?
disease? ' (A)* T
(A) Measles _
(B) Leprosy (B) :bj;,[ .
(C)  Scurvy (€) *
(D) Diabetes (D)  TWE 4
59. Scurvy disease is caused by the deficiency ¢.59. e &40l 3 4 TE AT BT 2 2
of: -
(A)  Vitamin C gB)) R g
(B)  Vitamin D +
(C)  Vitamin A ©  faefd A
(D) Vitamink (D) faerf| k4
60. Most hazardous | metal ~pollutant ‘of  60. demEEd e/ 9 Peay a0 sal®
automobile exhaust is : NeRE TeEH .
(A) Mercury " HR'HHL_%T LR
(B)  Lead (A)
(C)  Tin (B) S -
(D) Copper © fem
(D) PR
61. Benzene is : 6l. &G ¢
(A) Gaseous pollutant R PETT
(B) Liquid pollutant ' g aiy
) (C)  Solid pollutant (B) i
' (O] .Allofthe above (C) o g
(D)  STYH W
62.  Which one of the following is not a search ~ 62. f=fiRag § PFA—w Td 39 e &2
engine ? A
(A) Google (&) Tﬂgf?
(B) Chrome (B)e
(©) Yahoo (© ?‘l'lﬁ
(D)  Bing (D)  fdw

[Series-A] [CET-BED : 2021] [Page- 9]



63.  National Press Day is on : 63. UL U feqw F9 & ?
(A) Novembel‘ ].s'" A ‘;IW 1
(B)  October 21° (B)
(C)  November 16% (B)  JaER 21
(D) January 7% © TdHY 16
(D) AR 7
64. Who among the following is known as  64. = § & &9 g § TRRURSA & Ao
‘father of ecology’ in India ? Py ¥
(A) P. Maheshwari 5 B At
(B)  SK. Kashyap (A)
(C)  B.P.Pal (B)  TH0®0 H¥U
(D)  Ramdeo Mishra (C)  diodio ura
(D)  FeT fRsm
65. The most controversial amendment passed  65. 7T = 99 URd i Rafe dom
during the emergency was : o :
A - A ‘ A) 4391
B)  41¢ (A= TN
(C) 42 ® 4a
(D) 44t (C)e 42ai
D) 444
66.  In which of the following states was the  66. fy=iafas 3 Tdvys Tad) 9 & W
Ezglchay?{tl 'RaghﬁrSt introduced ? 50 o1 A Iy & o 2
3 ajasthan . _ _
A (B)  Gujarat (A TSR
U (C) Uttar Pradesh (B) NN
(D)  Bihar (C) SWRT
(D) &R
67. In which year Saraswati Academy was 67. T H TN FDISH P AU P E—g
established in Darbhanga ? off ?
(A) 01¥ January, 1901 S
(B)  01* January, 1909 (). SENYN 1901
(C)  01* january, 1903 (B) p OfWTSRT 1909
(D) 01* January, 1912 (0 01 Si=ax] 1903
' (D)e | | 01 TG 1912
68. The Ministty of Human Resources 68. W HEN AN HATed T9T TRT o -
B{:)ve!opggegt vias (geat?; 812 the year: (A) 2% W 1985
eptember, 1985 - _
(B) 28 December, 1953 (B 28 ISR, 1953
(®) 18 December, 1953 © 18 fSw=R, 1953
(D) 02 September, 1985 (D) 02 FawR, 1985
69. The tomb of the ruler of Delhi is situated on- 69. =1 @ 9199 IR R @ BT Hhae Rerg
(A) Vaishali 2.
(B) Darbhanga A a o
(C)  Sasaram 4) el
(D) Gaya (B) bl
(C) HHRE
(D)e T
70.  Lalit Kala Akademy was established on 70. dfid o IFEH BT E‘é off :
Eg)) igg; (A) 1954 §
) 1965 B 1972 %
(D) 1953 ©) 1965 ‘Ef
(D) 1953 #
[Series-A] [CET-BED : 2021] [Page- 10]



71.  India’s first air taxi service was launched in ~ 71. 9Rd @] Ugall VAR <ol qar g vy §
which State ? IR™] B Tlé ?
(A) Bengal :
(B)  Haryana () #is
(C)  Uttar Pradesh (B)= &R
(D)  Andhra Pradesh (C) TR Weu
(D) 3T WeW
72.  Who is the first Chief Defence Staff of  72. WRd &I Uzl AP 3% P~ €IH I £°
India: (A)e AN qEHT TGO
(A) Manoj Mukund Naravane B e ﬁgﬁl
(B)  Rakesh Kumar (B) 1l
(C)  Karambir Singh (€  FVER RiE
(D) General Bipin Rawat (D) S Rel 409 Saa
73.  Which is the largest river basin in India? 73. R 99y g |d1 IR P Gr &7
(A) Ganga Basin ' (A) T AaRkE
(B) Cango Basin B e
(C) Bay of Bengal (B)+ )
(D)  None of the above (©) qTe] CakEIS]
- (D) T W PIg T
74.  Which State is the largest producer of rice in 74. WX A IEA BT G4 98T ITGd Y B
India ? 27
(A)  West Bengal ' -
(B) Uttar Pradesh (A)e
(C)  Jharkhand (B) SR 7Y
(D) Bihar (C) FAREUS
(D) \ fe&R
75. Is the unit of frequency : 75.  FEN P IS ©
o (A)s  Hz
(B)  KiloHz (B)  KiloHz
LC? Hz/Sec (©) Hz/Sec
(D) Kg Hz/Sec (D) Kg Hz/Sec
76.  Horse power is equal : 76, B TR TR §
(A) 776 watts N b
(B) 746 watts (A) %0
(©) 11,000 volts (B}~  74G-9IcH
(D) None of the above © 11-0_00 diecH
(D) T 9 PR T
77. Who has recently been appointed as the  77. gl & # &9 wRa o1 & A e
Chief Justice of India ? R Ty & ?
(A)  Rajesh Bindal s
(B) Sharad A. Bobde (A)
(C) Ramana N.V. (B)* ¥RQ U0 d9s
(D)  H.J. Kania (C)  ¥HUI THOdN0
(D)  TFON0 BT
78.  Which State has won the e-Panchayat Award 78, @eRI—1 # {59 w0 7 3-9ard REHR
2021 in category-1 ? e ?
(A) Andhra Pradesh " g
(B) Arunachal Pradesh (A) e
(8)) Himachal Pradesh (B) IR Yo
(D)  Uttar Pradesh (C)e fE9ES WSW
(D) TR W
[Series-A] [CET-BED : 2021} [Page- 11]



19,

80.

81.

82.

83.

84.

85.

86.

Where is the Bank Note Press located ?

(A) Nashik
(B) Mumbai
(©) Dewas

(D) None of the above

Which great man’s birth anniversary
commemorate as National Education Day ?
(A) Mahatma Gandhi

(B) Rabindra Nath Tagore

© A.P.J. Abdul Kalam

(D) Maulana Abul Kalam Azad

Tehri Dam is the highest dam in India and is
located on which river ?

(A) Kamala river ‘

(B) Mahananda river

(©) Bhagirathi river

(D) Phalgu river

Who was the leader of Chipko movement ?
(A) Medha Patekar

(B) Swami Nathan

(©) Sunderlal Bahuguna

(D) None of the above

What is PHP in programming ?

(A) General purpose programming
language

(B) Central processing unit

(© Central processing union

(D) None of the these

When is computer literdcyday celebratcd ?
(A) 05 December '

(B) 14 December

(© 22 December

(D) 02 December

Who is the first female poetess won the
Sahitya Akademi Award-2020 in Hind
Poetry ?

(A) Anita Verma

(B) Anjana Dev

(C) Anamika

(D) Asima Bhatt

The Constitution of India is :

(A)  Very rigid

(B) Very flexible

(© A combination of rigidity and
flexibility

(D) Neither rigid nor flexible

9,

80.

81.

83.

86.

% e 39 Fer i & 7

(A)  AIR®

B) T

(C)e QAN |

(D)  SuYwH H ° Pl TE

P B JoY BT 9 foad I e
oo & w9 § w97 S ® P

(A)  HETcHT TR

(B) e T IR

(©  Todiotio IFA HAH

(D) HIFFT 3qA FAH AR

feed 3w 9T o7 5ew 9T 9y € 3N 59
T R g & 2

(A) BT TG

(B) HeMal Tl

©  FrfrReh T

(D) S T

RIS JSias @ 9oar o9 o ?

(A) i"‘fE-H 'dli:m‘

(B) W T

©) <Xl ST

(D) T PR T
grfr & dogaodio & ?

(A  TIY S URET AT

®) Az WRHRT e

(C) dxd URRET IR

(D) FH A T

ST WGl (o949 D9 FART SR &7
(A) 05 feuw

B) | 14 R

€ 22 e

D) 02 feamR
T%aﬁﬁma‘»%ma&‘—zozoww%w
oAl TBR 60 yom Aler $fags 5
rar ?

(A) @ A

(B) IS <@

(C)  FAIHS

(D) ¥ g

WRAW e 2

(A) 3IRF PR

(B) 0@ Fdren

(C)»  HORAT 3R e $1 GYad
(D) ¥ TEem 7 & BeR
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87.

‘Durand Cup’ is associated with the game of: 87, ‘g¥ve &7 ey Wt & Wafda © -
(A) Football - (A) W‘Tﬁ
gB) POlOk (B) - Iy
C) Cricket:
C fohde
(D) Hockey ED)) =t
88.  Niti Ayog formed in : 88.  fay AT P BT gar -
(A)e 01 January 2015 (A) TR 01, 2015
‘ (B) 0l February 2015 (B) W& 01, 2015
b © 01 March 2015 ©) a9 01, 2015
(D) 13 June 2015 D) W 13, 2015
89.  PNR-381 is a improved variety of : 89.  $loUH03R0—381 U Swidl e &
(A)  Rice (A) 99
(C) Pulse
(D) None of these Eg)) E‘Tﬁ &
90.  Which is the best breed of buffalow ? 90. Y B I G Tl P ¥ ?
(A) Murra (A) ﬂﬁ
(©) Totapuri e
(D) None of these Eg)) T W B
9. Who won the Kabaddi World Cup (Circle ~ 91. fiwd wegel do BU (Al wige)) 2020 7
Style) 2020 ? faorr @ 2 ?
(A) Iran (A) G|
(B) India & —
= (B) =ik
(C) Pakistan
(D)  Bangladesh g T
92.  Which organisation won Nobel Peace Prize-  92.  idof fava snfaq amars—2020 fFg dwr @ Tt
2020 ? gar ?
(A)  WHO (A)  S<YOTHH0
(C)  WFP
D) IO (€)  S=goumod0
(D) 3ME0TEH03T0
93. Who is the Education Minister of Bihar at 93, f3gR & Ry & a9 & (gt ) ?
present ? (A)
(A) Ashok Chaudhry B
(B) Krishna Nandan Prasad Verma (B)
(© Prashant Kumar Sahi (©)
(D) Vijay Kumar Chaudhary (D)
i 94.  Who is ‘Sahityakar’ of Bihar ? 94. &R & WtgaR & ?
(A) Ramdhari Singh ‘Dinkar’ (A) '
(B) Gopal Singh ‘Nepali’ (B)
(©) Pandit Ram Avtar Sharma C
(D)  All of above ED))
95.  Letter, email, telephone are examples of : 95. ofeX, g9l cform
(A) Message (A)
(B) Channel
(C) Feedback (B)
(D) Encoding ©)
(D)
[Series-A] [CET-BED : 2021] [Page- 13]



SECTION-V
(E@s-v)
TEACHING-LEARNING ENVIRONMENT IN SCHOOLS
(faererat # fRwn v 9 @ AR
96.  Which philosophy advocates role of a  96. @& BIF—Ul <3 e & & el swaws @)
teacher as strict disciplinarian ? e & e g FTETATE & ®Y §
(A) Idealism el Bear & ?
(B)  Naturali
aturalism Frestare
© Realism (A) & ‘
(D) Existentialism (B) €
(©) TR
(D) IRGEarR
97.  Which of the following ‘Pillars of education’ 97, 3= # %‘r&w o B W B 9ES 9§
has its support from sociolagy ? W A e?
®  Lomingtobe @ 3 (L
(©) Learning to do (B) ﬁ%i;ﬁ N
(D) Learning to live peacefully with "C"’ e r_. . SH
others (D) i:'—"'— *
98. Right to Education came into force on : 98. ¥ & SRex R e L &’
! (A) 1 April 2009 (A) 1 3% 2009
! (B) 1 April 2010 - g
g (C) 1 April 2011 ®) e 208
(D) 1 April 2012 (©) 1 3BT 2011
(D) 1 37 2012
99.  Effectiveness of teaching dependson : 99, REv-wwEdiaad Rk o 8
(A) Qualification of teacher (A) s 3 drgar
(O Handwriting of teachiér © e = s
(D) Subjectundefm of teacher ©) B @ o @ e w o
100. A mathematigs,_téachet discussed same. | 100. %ﬁvzwwmﬁmmwé
problems in the classroom and then asked 11 359 415 9IF B BiSED f{ HRIERCETS )
the students to work out some problems mupmammglwmﬁm
Ig;:’ezfu.l the book. Students are practising the R s Ta s e
3 (A)  Contiguity (A) @ @1
j (B) Reinforcement (B JieeT a1 o
(C)  Readiness (C) T & fram
‘ (D)  Exercise (D) 3I=™H ?51 s
. 101. In the history of education in Indiz, arrange 101. #Rd H B @ sfew § f=ifea qga-c‘(trf
i in temporal sequence the predominant g'q'ﬁf‘ & m 9§ gﬁﬁj\‘g
i influence of the following (a) WA
(a) democracy R
(b) religion il S =
(c) poli%:}cs (© ‘4 7
(d) modernisation (d) angﬁaﬂmm V/
_ (A) a, bcd (A) a, b,c,d
.% (B) bcad (B)  b,cad
L (© ¢cb,da (©) » ¢ b,d,a
:'l’ I (D) d: as b: (D) d) ! bs c
% [Series-A] [CET-BED : 2021] [Page- 14]




102. Knowledge of individual difference in the  102. e # afth % &1 o AATF $ Hee
class will help a teacher to : AT §
(A) maintain discipline in the class :
(B) evaluate the homework of students (4) A ; IEIEN S mﬁ{ @ fore
(C) plan the teaching learning activities (B) farenfofat lﬂﬂilﬂ CRIE R B
(D) make necessary arrangements in the forg
class (C)  HATA-3ANA S B AT
@ forg
(D) & H AqRG AAT G & {1y
103. Modernisation is the process of : 103.  ayefyarenyor ufhar & :
(A) Capitalisation (A) iﬁﬂw
(B) = Change and adaptation TR
(C) Sanskritization (B) ﬂ ) IR
(D) Stratification (€ WPl
(D) W&
104. The mid-day meal programme for primary 104. fre—< 9 odsq yafe el & foru
school was initiated with a view to : ERGEIN A g™ by T
(A) increase enrolment TR e
(B) involve community (A) El'c.!'ﬁ ® ]%{Q
(©) engage teachers (B) NECE ?55[ AN T B ferg
(D) increase the employment (©) JIATTD] BT AT DY B ]%W
(D) IR 9B & fog
105. Which one of the following teachers would 105. 99 3 39— Bme o 3y e yg=
;a.)_ itke the most ETUN
_ (Bg having research aptitude e s
2 (C)  loving and having high idealistic (B) T SifvEHCT T &l
philosophy (©)  WRI R S= aeuids oo
(D) who oftenamuses his students (D) S R a7 faeneft @Y afmfeg
E
-
106. SCERT was established in : 106.  THOwI0Z08MR0EN0 FIfia garm o
(A) 1988 (A) 1988
(B) 1999 (B) 1999
(C) 2000 (©) 2000
(D) 2001 (D) 2001
107.  Project method is propagated by : 107. YgoE fafey l;lﬁ'ftnﬁ_c[ Gall % :
(A) William James
_ illiam A)  fafergm
(B) Kilpatrick (A) f) ﬁi?: o
(©) John Dewey (B) ¢
(D)  John lock © S &
(D) SIERSIED
108.  Which one of the following is a good method 108, =7 & Pl—wr U FRET BT TR i £7
of teaching ? ARG qf?iﬁig
(A) Lecture and dictation (A) A 3?_; F
(B) Seminar and project (B)
(O Seminar and dictation © AR 3R ’ﬂﬁﬁ_@
" (D) Dictation and assignments (D) %%:\E IR yeaard
[Series-A] [CET-BED : 2021] [Page- 15]
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109, Which of the following does not belongtoa 109 3= § 9 Toiees v ¥ wafg w8 & ?
projected aid ? A IREE TR
(A) Overhead pr0]ector (B)
(B) Blackboard (B) HTE
(C)  Epidiascope ©¢ VRfsaram
(D)  Slide projector (D) TwIEe Uaidex
110. Which examination has no place ~of  110. & Uder ¥ U &t BT UM el &ar?
discrimination ? (A) Sere
(A) Validity '
(B)  Generality (B) AU
(©) Reliability ©) EEEREIDG)
(D) Objectivity (D)s  TETSAT
I11. The stage in between childhood and * 111. FrcuEee R Zawel & 49 %) oy ?
adulthood ? FSH
(A) boyhood B ?'E_“E‘?L -
(B) . infancy { _-' Bl _FH
() adolescence (Cr &3 Abhal
(D) youth (D) S49F
112. Curiosity : 112. foshs
(A) Feel to know Ave TS ==
(B) Feel to live 2y _a ____*_1_
() Obey (B : " ® SO
(D) Whole knowledge ©) ISR L]
(D) T
113.  The aim of teaching is : 113, 37T 7 Igee B
(A) to provide knowledge to students (A) BIET I §19 ST B
(B) to encourage students forlearning & o A
(©) to motivate students (B) 19 \?.TI @l 37'7? &g HiHed B
(D) All of the above (© el o afIRT Fw
\D}‘ 33 il ;Ff‘f.
[14. Which methodgisgraising imferest in classy 114, =7 3o 3§ oy ST ETGECIRGISEC RTIC]
teaching ? F-q e ?
(A) Study of students "
(B)  Clarity of aims o R i
(C)  Measurement of interest (B)  SE¥ B WAl
(D)  All of the above (©) Y A"
(D)s  STYH W
115. The aim of value education to inculcate in 115. 71 f2rem &1 Sewa faenffal & REEECCIT I
students is : (A)e  A® 4= &
(A) the moral values (B) RT3
(B) the social values Y 0
(C)  the political values © j;‘f'a:‘“a? ‘1“;51
(D) the economic values (D) SR
116. Which one of the following is informal  116. = ¥ 319 U FHlTaRe Gy 2 7
nstitution ? (A) Tifea
(A) Classroom : 5
(B) Playground (B) e a1
(C)  Library (€  YXIPIeld
(D)  Seminar (D) AR
[Series-A] [CET-BED : 2021] [Page- 16]



117. What kind of work is remedial teaching? 117.
(A) Instructional
(B) Negative
(©) Imperative
(D) Theoretical
118. Who said ‘Man is perfect and education is 118.
the manifestation of the existing in man.” ?
(A) Gandhi
(B) Frobel
(©) Vivekananda
(D) John Dewey
119.  Which one of the following is not a projected 119.
aid ? :
(A) Photographs
(B) Flash card
(&) Slides
(D) Puppet
120. When child fails, means : 120.
(A) Child is not able to learn
(B) Child is not remember the answers
(©) There was a need of tuition
(D) The system has failed
m‘%' Txzmw
va— Wﬁongh Work-

SUARTHS 31 o1 S 8 ¢

(A)s TG

B)  furce

(C)  CIHD

D) e

fber e wqe Tf @ qor R, w9 A
faerm qoiar o efveafaer 1 7

(A) TR S

(B) Wi

(€)+ fiaom=<

(D) & =@

o & P-4 vefa Sudwr T8t & ?
(A)  BICHITH

(B) Tl Ble

©) Yellgs

D), TUC

SI9 977 Bl BT 8, aRad B

(A) ¥ Yerg @ forv anyg =gl 8
(B)e % 7 STNI @I UG FEI fm §
(C) 9= B TG DI AaegEHar ot
(D) R B T ©
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SEAL

N
|

6. | Each question has four alternative | 6. | Y@@ 7% & folt 9R fdwed (A), (B), (C) @
responses marked as (A), (B), (C), (D). | (D) fev U €| snual Fel SR & Gafdg Mol
You should darken correct answer in Bl TRl FRAT B
corresponding circle. .

7. | Your response to the item is to be|7. | ¥ & IW ddd OMR I TF W &
indicated on the OMR answer sheet Jifd & £
only.

8. | Answers marked in question booklet | 8. | YF-Raar # sifhd I B [T TL
will not be evaluated. Rough work is to fogr e | @ S 3 gRad @ offon ge
be done at the end of this booklet. W |

9. | You have to return only the original | 9. | aTu@! Wan F9 21+ T8 $ad 3NMOTHONRO B
OMR sheet to the invigilator at the end T Wi o8 e weica 9 dier aawd
of examination compulsorily. 3

10. | You are permitted to take away the | 10. | 3TU® F¥-ga® 37 0THOIRO &I A
question booklet and second (carbon) (@) vfa @ 99 @ Il R
copy of OMR Sheet.

11.| Use of calculator, log table or any | 11. | 9= 3 5% UoR &1 dagoex, arcad A

' electronic equipment in examination % 9 TR SIS B AN IR B
is prohibited. [

12. | In case of any mismatch of questions, | 12. | 758 ¥ &1 959a @ 290 5 STl b Bl
the English version will be deemed to @ W e, IR we-gRae i 8@
be correct, if the question booklet is
bilingual.

13. | For each question, darken only one 132?85'&?‘5%’{'3‘3?‘15'5’3&53?"?"'7
circle on the answer sh _If youl |&a@ & 21 W I @ | W T
darken more than one circle or darkena | | @w 9 @ S¥G W ¥ @ A m
circle partially, the answer wﬂl" be . ‘{-ﬁ' S HdTdl &I WaIg Tad AT ST |
treated as incorrect

14. | Note that the answer once filled in ink | 14. | &9 € & 9 "arel &1 wdd U6 aR WAl 4
cannot be changed. If you'do not wish R & T g I5a1 98 W §ean| 3 uE
to attempt a question, leave the circle | 70 ware & S A8 <A1 91ea, 99 W @

i .Pﬁiw*ﬁaﬁzi‘@ﬁﬁfﬁﬁs‘%ﬁ
_ R sy
15. | There is no ifes Hien 7o &




